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(Minufiys University )

Faculty of Commerce.

Business Administration Dept.

4" Year Students, English Section.
2™ Term — Final Exam. 2016.
Date: 8/6/ 2016.

Time: 40 Minute

Course: Feasibility Studies, Management Part
A.Prof.Dr. Amgad Hamed Omara

Answer the following questions: (5 Marks)

Outline in short the main components of the feasibility study framework?

Just propose five ideas for five projects that are urgently required for the people who live in
Shebin Elkom city, and then itemize five reasons to justify the need for establishing each?

In one of the industrial companies the whole number of the employees was 900 workers; those
were distributed as 100 workers in the top level of management, 200 workers in the middle level
of management and 600 workers in the direct level of management. During the few previous years
the historical data that’s indicating the probabilities of the labor movement from one management

level to another within the same company were as follows:

e 16 [ _i'oplie;/el TWM:dje \ev\; a;‘ect Ievvel [ Tijrno;;
From | ]

[ Top level T 80% ' 0% 0% 20% \
s I L B 5 SLMe 4 £ =5 —
Middle level 10% | 0% 5% 5%
(Direct level | 0% | 5% | sox 15%

Show how you could specify the following items:

1) The internal supply of the labor inside the company ?

2) The whole number of the workers who are going to stay working in the company and the
number of the workers who are going to leave the work in such a company ?

3) The estimated rate of labor staying and labor turnover?

4) The expected number of staying and leaving labors if the whole number of labors is gone to
be 1500 workers.

Best wishes
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(The Accounting Part)
Faculty of Commerce, Spring Semester. 2016
Accounting Department, English Section.

Time for this part only: 40 minutes.
Feasability Study Final Exam, 2016, 4" Year Students.

(Answer the following questions & indicate the necessary calculativons)
Question 1: (2 marks)

Following are three (3) investments projects and their estimated investments & cash inflows :

Project 1 Project 2
Initial investment $ 350,000 200,000
Annual net cash inflow: (in $)
Year 1 150,000 100,000
Year 2 150,000 100,000
Year 3

200,000 100,000

Required: Computes the payback period for each project? What is the best project using NPV analysis? Explain.
Additional data; 1.the present value of ordinary annuity for one pound at 10% for 1 year is; 0.90 , for 2 years
i is; 0.70 ,for 3 years is, 0.80.

2. the present value of annuity “equal cash inflows” for one pound at 10% for 3 year is; 1.500.
Question 2: (3 marks)

A. (M) Manufacturing is considering buying an automated machine that costs $250,000. It requires
. working capital of $25,000. Annual cash savings are anticipated to be $103,000 for five years. The

company uses straight-line depreciation. The salvage value at the end of five years is expected to be
$10,000. The working capital will be recovered at the end of the machine's life.

Required: Compute the accrual accounting rate of return based on the initial investment.

B. Capital Investments has three divisions. Each division's required rate of return is 15%. Planned
» operating results for 20X5 are as follows:

Division Operating income Investment
A $15,000,000 $100,000,000
B $25,000,000 $125,000,000

The company is planning an expansion, which will require each division to increase its
investments by $25,000,000 and its income by $4,500,000.
Required:

a.Compute the current ROI for each division. b.Compute the current residual income for each division.
C Rank the divisions according to their current ROIs and residual incomes.

end of the accounting part'squestions.
Best wishes g




Menoufyia University final Exam (2015/2016)
Faculty of Commerce 2" -Term

Course: Economic Issues and policy Time: 2 hours

Answer the Foliowing Questions

The First Question: Write short notes about the following items, give examples &
illustrate it graphically if required; (6 marks)

1) Economic Growth, Production possibilities and Effects of Policy on the Macroeconomy.

2) Inefficient Resource Allocation, Over-allocation and Under-allocation of Resources.

3) Inflation, Problems and Types of Inflation.

The Second Question: Discuss in briefly the following questions, give examples &
illustrate it graphically if required; (9 marks)

1) Problems, Types of Unemployment and Macroeconomic Effects of Unemployment.
2) Environmental Legislation, Policies, Politics and Evaluation of Environmental Policies.

3) Economic Transition, Economic Reform and Effects of Each them.

g



Minufiys Univorsity '

* Faculty of Commerce.

* Business Administration Dept.

® 2™ Term — Final Exam. 2016.

* 4" Year Students, M. English Section.
e Date: 22/6/ 2016.

e Time: 2 Hours.

Course: Management of Specialized Organizations
A.Prof.Dr. Amgad Hamed Omara

Answer the following two questions:

Question: (1) (7.5 Marks)

"Within the context of the mobility toward an aggregate development and striving for a sustaining
economic progress, the span of depending on those specialized organizations, which are practicing an
activity with a very particular nature, is getting more extended. So far, it has contained too many sorts
of organizations such as; schools, orphan homes, different types of farms, TV channels, universities,
commercial banks, Hotels, insurance companies, airports, investment banks, family and life coaching,
seaports, marilime transporting companies, hospitals, medical analysis laboratories, cleaning and recycling
companies, funeral and memorial services, wedding halls, clubs, interior design and decoration
companies, employment offices, community dévelopment societies, tourism companies, health care
institutions, elderly care homes, kids nurseries, premature incubations, and others ..."

Choose just one of these organizations and then clarify, in your view, the following items:

* Justifications you can stand on to consider that such a selected organization is particularly
having a specialized nature?

* A practical framework describes the fields and characteristics of the activity that being practiced
by this specialized organization?

* Reflection of the organization's nature as well as its activity fields and characteristics on both
the functions and practices of management ?

Question: (2) (7.5 Marks)
Show how the specialized organization could apply the following:

* Closed loop versus open loop of control?
* Mutual causation and positive feedback?
® Leaming how to learn?
Best wishes

/1
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Menoufyia University Final Exam (2015/2016)
Facuity of Commerce 2" —Term
Course: Economic Feasibility Study Time: 2 hours

Answer the Following Questions
The First Question: Discuss in briefly the following question; (2 Marks)

The concept of feasibility study and The Types of Feasibility Study.

The Second Question: Use The following data to Conduct a Feasibility Study Analysis for
a Certain investment project; (3 Marks)

Cash Flow

Development costs $300,000

Operation costs 2 $10,000 - $12,000 - $14,000 - $16,000 - $18,000
Benefits $100,000 - $150,000 - $200,000 - $250,000 - $300,000
Discount rate 12%

Years of project 5

Calculate:

1) The Net Present Value and Decide The Project Can be done or not?
2) The Return on Investment and Decide if The Project is the best Alternative or not?

3) Payback Period Using The graph.




Menoufia University

Faculty of Commerce Final Exam 2015-2016

Year Four English section Tax Accounting 72.-6-2016

Answer the following questions
Question 1 (5 grades, 40 minutes)

Mr. Ahmed operates a custom parade hall in Cairo, his revenues and expenses as per
his accounting records for 2010 were as follows:

I: revenues: Fees from custom designs 100000 — fees from custom shows 75000 —
fees from training of young boys and girls of fellow custom halls in Alex 28000 — fees
from speeches through T.V. 10000 — income from sale of used furniture 50000, book
value 35000, accumulated depreciation 15000 — cash received in advance on account
of shows to be made in Berlin during 2011 € 10000 (exchange rate for the Euro is
P.T.850) — fees from hiring of hall to cinema producers of films 25000.

1I: Expenses: Annual membership fees to syndicate 450 ~ subscriptions to syndicate
pension system 350 — general expenses 32000 — undocumented expenses 4500 — real
estates tax on the hall venue 3000 — non-trading professions tax differences on the
years 2005 & 2006, 20000 — advertising expense 10000 — life insurance premiums for
her own benefit 7000 — fire insurance and housebreaking insurance premiums on the
hall 9000 — depreciation of fixed assets expense 3000 — donations to City Council
5000 — donations to Children Hospital 7000 — donations to charities recognized by
Government 3000 — car expenses S000.

Required: Prepare a statement to compute the non-trading profession's income, then
Calculate the tax payable by Mr. Ahmed for 2010.

Question 2 (4 grades, 30 minutes)

A. Mr. Samir owns a building of 8 floors each floor contains 4 flats , the monthly rent
per flat is L.E.1000 , he and his family occupy two flats, he has granted two flats to
two of his boys. The ground floor contains 3 shops , he utilized two shops in a retail
trade , the third shop is hired to his sister for L.E.4000 monthly . His net profits from
the retail shops for 2013 are L.E.100000 . Required: Compute the taxable income.

B: An extraction company extracts a mineral from mines and sells it to a
manufacturing company for L.E. 7000. The manufacturing company that processed
metal products sells it to a wholesaler for L.E. 25,000. The wholesaler sells the metal
products to a number of retailers for L.E. 33,000. The retailers sell the metal products
to the final consumers for L.E. 39,000. Required: calculate the sales tax.




Question 3 (6 grades, 50 minutes)

The income statement of Banha limited partnership has shown a net profit of L.E.
5000000 by end of 2013. The following information was found:

1- Depreciation include the following: L.E. 6000 amortization of goodwill at 25%, L.E.
7500 depreciation of furniture at 15%, L.E. 40000 depreciation of machines at
40%, A new machine L.E. 50000 was bought during the year, the tax law
depreciation rates are as follows: 10% for intangible assets, 25% for machines &
furniture, Accelerated depreciation for new machines at 30%.

2- Salaries & wages include the following: Monthly salary to Mr. Ahmed, the limited
partner, for his book-keeping service L.E. 2000. Monthly salary to Mr. Samir, the
general partner, for his management services L.E. 3000. Monthly salary to Ms.
Manal, the daughter of a general partner, for her audit service L.E. 1500, the
equivalent salary for the job is L.E. 1000. Incentives to Mr. Samir L.E. 5000.

3- The provision was as follows: L.E. 800000 income tax provision. L.E. 100000
provision for doubtful debts. L.E. 50000 provision for end of services rewards.

4- The debit interest expense L.E.17500 is as follows: L.E. 10000 interest on general
partners capitals. L.E. 2000 interest on limited partners capitals. L.E. 4000 interest
on a loan to a natural person who is not subject to tax. The rest is interest on a
bank loan of L.E. 7500, the central bank interest rate is 8% yearly.

5- The debit insurance expense was as follows: L.E. 18500 contribution to social
insurance for employees. L.E. 4500 contribution to social insurance for the limited
partner and the general partner. L.E. 9000 tender insurance from vendors. L.E.
3000 electricity meters insurances.

6- Partners drawings during the year were: L.E. 10000 by checks and L.E. 12000 from
goods at cost, the mark-up rate is 25% of sale price. These were not recorded in
the books.

7- Donations of L.E. 12000 were paid to 57357 children’s hospital, and L.E. 30000
were paid to liberation thunder rain victims in remqte areas.

8- Investment income of L.E.40000 was found to be a combination of interest on
government bonds and issue discount on treasury notes at 3:2 respectively.

9- The income statement was credited with revaluation profits L.E. 900000 in
expectation of being taken a corporation in 2010.

10-Inventory at end was found to include under-estimation errors L.E. 200000.

Required: Make out the necessary adjustments to the profits of Banha limited
partnership and Compute the tax due for 2013.

With my best wishes

Mohamed Wahdan, PhD
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Part 1: MCQs - Choose the correct answer (Answer the following) (30 minutes) (6 marks

1. In the BCG Matrix, which strategy would be most appropriate for a division classified as a Dog ?
A) Market penetration

B) Forward integration

C) Market development

D) Product development

E) Retrenchment

2. According to "Not managing by objectives" What principle is built on the idea that there is no general
plan for which way to go and what to do ?

A) Managing by hope

B) Managing by objectives

C) Managing by extrapolation

D) Managing by subjectives

E) Managing by crisis

3. Starbucks (the very famous coffee shop) reaching a deal with Green Mountain Coffee Roasters for
that firm to sell packs of Starbucks Tazo-branded coffee and tea in their brewers is an example of which
type of strategy ?

A) Related diversification

B) Forward integration

C) Unrelated diversification

D) Backward integration

E) Horizontal integration

4. Which of these strategies is effective when the number of suppliers is small and the number of
competitors is large ?

A) Conglomerate diversification

B) Horizontal diversification

C) Backward integration

D) Concentric diversification

E) Forward integration

5. Which strategy seeks to increase market share for present products or services in present markets
through greater marketing efforts ?

A) Market development

B) Market penetration

C) Product development

D) Backward integration

E) Forward integration

6. Which strategy is appropriate when an organization competes in an industry characterized by rapid
technological developments ?

A) Market penetration

B) Liquidation

C) Retrenchment

D) Backward integration

E) Product development
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Faculty Name: Dr. Mohamed Behery
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7. Tyson Foods Company opening a manufacturing plant that makes diesel and jet fuel from chicken fat,
beef fat, and leftover food grease from the firm's meat-processing plants is an example of

A) backward integration.

B) unrelated diversification .

C) divestiture .

D) forward integration .

E) retrenchment .

8. According to Porter, which strategy offers products or services to a niche group of customers at the
lowest price available on the market ?

A) Focus — Low Cost

B) Cost Leadership — Best Value

C) Focus — Best Value

D) Differentiation

E) Cost Leadership — Low Cost

9. What occurs when two or more companies form a temporary partnership or association for the
purpose of capitalizing on some opportunity ?

A) Forward integration

B) A joint venture

C) Liquidation

D) Backward integration

E) Acquisition

10. Forward integration would be an appropriate strategy for which of the following types of divisions in
the BCG Matrix ?

A) Cash cow

B) Star

C) Dogs

D) Cat

E) Question Marks

11. Which of these is NOT a SPACE Matrix quadrant ?
A) Competitive

B) Conservative

C) Offensive

D) Defensive

E) Aggressive

12. In the BCG Matrix, how would a division with a low relative market share position in a high growth
industry be described ?

A) Cash Cow

B) Star

C) Stuck-in-the-middle

D) Question Mark

E)Dog -




2 . Semester (2015/2016)
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Part 2: Discuss briefly in a short essay the following questions (30 minutes each) (3 marks each
1) Discuss briefly the different quadrants of BCG matrix showing which one these strategies will be a
best fit with which stage of the company’s life cycle (the introduction stage, the growth stage, the
maturity stage, and the decline stage) and why?

2) Discuss briefly the “Directed opportunism”, also discuss briefly the meaning of the four strategic
orientations needed while expanding to the global market, finally draw the framework used to select
strategic market.

3) Opening a business abroad is always one the strategic decision for a company to make. Draw the
International Business Model (IBM Model using 1 Head Quarter and 3 Subsidiaries), also Discuss
briefly the meaning of the following concepts:

- Multidomestic Strategy Vs. Global Strategy

- Franchising

- Foreign Direct Investment (FDI) Greenfield Vs. Foreign Direct Investment (FDI) Brownfield
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ngiish se ——ancial Institutions 13-6-2016

Answer the following questions
Question 1 (5 grades, 40 minutes)

A. The following balances are concluded from adjusted trial balance of Jasper
National Bank, could you use this information to fill in the missing items (all
figures in millions of dollars):

Cash and due from Depository Institutions 87, Undivided Profit 2, Securities
233, Federal Funds Sold and Reverse Repurchase agreements 45, Other
Borrowed Funds 50, Subordinated Debt 480, All Other Liabilities 40, Gross
Loans and Leases 1900, Loan Loss Allowance 200, Net Loans and Leases 2
Trading Account Assets 20, Perpetual Preferred Stock 2, Common Stock 24,
Bank Premises and Fixed Assets 25, Other Real Estate Owned 15, Goodwill
and Other Intangibles 2, All Other Assets 175, Total assets 2500, Total
Liabilities 2260, total deposits 1600, Federal Funds Purchased 80, Trading
_iabilities ?, Total Equity Capital 2, Surplus 144,

B. Alex. Bank has just submitted its balance sheet and income statement to its
principal supervisory agency. The bank reported net income before taxes and
securities transactions of $35 million and taxes $10 million. If its total
operating revenues were $0.650 billion, its total assets $1.75 billion, and its
equity capital $170 million, determine the following for Alex. bank:

a. Tax management efficiency ratio. b. Expense control efficiency ratio.
¢. Asset management efficiency ratio. d. Funds management efficiency ratio.
e. ROE.

Question 2 (5 grades, 40 minutes)

Misr Bank made the following transactions during January 2010

1. 150000 L.E. cash paid to current accounts.

2. 60000 L.E. cash received from deposit accounts.

3.purchased foreign currencies of L.E. 250000 and sold foreign currencies of
L.E. 200000.




4. (Current accounts credit ) L.E. 24000 deposit cash, L.E. 46000 Check
drawing on other banks, the commission of collection L.E. 600.

S.purchased Egyptian Government treasury bills on January 1, 2010, face
amount L.E250000 to mature on Sep 30, 2010, Purchase price L.E. 227500.

6.Purchased Government bonds on January 1, 2010, face amount L.E.
200000, 11% coupon interest, matures Dec 31, 2013, coupon due June 30
and Dec 31, Purchase price L.E.220000.

Required : A. Journalize the above transactions.

B. Calculate and record the coupon interest of the transactions No. 5 and 6.
Question 3 (5 grades, 40 minutes)

A. Prepare the necessary journal entry to record the following transactions in
the bank's journal:

1.A customer deposits L.E.10000 and a check for L.E. 4000 drawn on another
bank, to his saving account.

2. A customer transfers L.E. 5000 from his checking account to his saving
account.

3. A customer cashes L.E. 3800 check drawn on another bank, at a teller
window, and cashes L.E. 2500 check drawn on the same bank.

4. A customer buys a L.E. 30000 certificate of deposit and pays for it as
follows: L.E. 12000 transfer from his saving account and L.E.18000 deposited
in currency.

B. The Tanta company borrowed L.E. 60000 from Alex. Bank on March 21,
2015, repayable on June 21, 2015. The Loan agreement includes a provision
for renewal of the loan on the maturity date in the amount of L..E.25000 and a
final maturity due of August 21, 2015. The annual interest rate is 10%.

Required: Journalize the previous transactions from March 21 to August 21,
2015.

With my best wishes

Mohamed Wahdan, PhD
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Minufiya University

e Faculty of Commerce.

e Business Administration Dept.

e 4" Year Students, M. English Section.
e 2" Term — Final Exam. 2016.

e Date: 13/6/2016.

e Time: 2 Hours.

Course: Public Relations and Advertising
A.Prof.Dr. Amgad Hamed Omara

Answer the following two questions:
Question: (1) (7.5 Marks)

“You've lately been in an interview on the way to work in one of the ads agency, then the
interviewer was using his narrative way to tell you a virtual story about what you are nearly faced with
every day .

He said; you have exposed to one of the ads that's broadcasted or published throughout the
internet, television, = social media, specialized joumals, daily or weekly issued newspapers, outdoors,
radios, mobiles, posters, in-stores, transit, yellow pages, entertainment homes, video games, place-
based media, movie theaters, promotional products, formal issues, or whatever the mean of mass
publicity, how can you:

e Describe the idea, content and form of this advertising?
¢ Outline the wide range of conditional characteristics to consider when generally designing
advertisings 7

* Make use of these conditional characteristics to evaluate and/or criticize such advertising?
Show to what extent you were successfully capable to answer these interviewer's three questions?
Question: (2) (7.5 Marks)
Discuss in detail just one of the foliowing topics:

e Social, ethical and economic aspects of advertising?

e Traditional and modem practices in support media?

e Public relations, publicity, and corporate advertising?

Best wishes




Menoufia University
Faculty of Commerce
Dept. of Business Administration

Course: Marketing Research (Final Exam)
(4" Year, 2" Semester, 2015/ 2016)
Professor Thabet A. Edrees

Please keep Smiling
@.1 True and false questions (20 minutes).

{ ) The survey is the overwhelming choice of researchers for collecting primary data.
( ) interviewer error occurs because of respondent’s impression of the interviewer,
questioning, probing, recording, and fraud.
() A key disadvantage of the open-ended questions is the wide range of responses that
can be obtained and the lack of influence in the response.
() A key advantage of the close-ended question is that there is less potential error due to
differences in the way questions are asked and responses recorded.
() One of the advantages of the mail survey is the high response rate.
() Observation may be the least expensive and most accurate method of collecting
Purely behavioral data such in-store traffic patterns.
( ) One acceptable use of qualitative research methods is to gain insights into topics that
Might be impossible to pursue with structured research methods
( ) Qualitative research methods are generally more structured and intensive than survey
research.
() In non-probability sampling, all members of a population have a known probability of
being included in the sample.
() In survey research, the classification of respondents by age is an example of the
nominal scale.
) In general, sampling error can be reduced if the sample size is increased.
() The best place for sensitive questions is at the beginning of a questionnaire.
) Telephone surveys are preferred when a large amount of data is required and when
the questions are complex. g
) With web surveys, no interviewers involved, thereby eliminating interviewer error and bias.
) Systematic sampling is one of the non-probability samples.
) Projective techniques can be used in marketing research to collect data about motives of
buying behaviors.
) A probability sample can not be used without a sampling frame.
) Exploratory research is not needed for both descriptive and causal (experimental)
research.
() Among the major concerns about pre-testing the questionnaire are the order of
questions, flow of the questionnaire, length, and respondent interest and attention.
() Asample is appropriate when the population size is large, and costly.

3

Q.2 Complete each of the following statements (70 minutes).

2.1 The problem of getting meaningful results from the survey interview process
Stems from the need to satisfy some conditions. Among these conditions are:

a.

b-

s P

*2.2 Among the guidelines that should be considered carefully in question wording

are:

a & -

b-

C —

d-



2.3 The three types of research are:
a_
b-
c-

2.4 Among the reasons of unwillingness to respond accurately in survey research
are:

a.

b-

c_

2.5 Among the factors affecting the choice of a survey method are:

a-

b-

c-

d-

2.6 The key types of scales and their properties are:

a-

b-

c..

d-

2.7 There are two major sources of secondary data:

a_

b-

2.8 In designing a questionnaire, the alternatives that can be used in formatting

the question are:

a.

b-

c
2.9 Among the projective techniques that can be used in any qualitative marketing
research are:

a-

b-

c-

Q.3 Exercises (30 minutes):

3.1 The marketing research department of Al-Hegaze Company for tourism
services in Cairo decides to conduct a survey to evaluate the extent to which its
customers are satisfied with the services delivered. A sample of 500 customers
was chosen from the entire population of its customers in Egypt (10000), which
can be classified into three segments as follows: individuals (6000), business
people (3000), and officials (1000).

Based on the Directly Proportional Stratified method, what is the sample
size that should be selected from each customer segment? (15 minutes).

3.2 In a study of job satisfaction of the total number of employees in a big
business company in Alexandria (5000 employees), the researcher assumed that
the confidence level in the estimation of the population mean is 95%, and the
allowed sampling error in this estimation should not exceed 5%.

What is the sample size that should be used in this study (the standard
deviation in the population is 0.48)? (15 minutes)

GO%‘JGK“
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Menofyia University,
Faculty of Commerce,
Accounting Department, English Section. May, 2016 Time: 2 hours.
Accounting Information System F inal Exam, Course Code: (2404). 4" Year Students.
Spring Semester.

_ Question 1: ( 5 marks)
(A) Indicate, with a flow chart (diagram), the role does the AIS play in the production cycle?.

(B)Give resonable explaination to the AlS, its objectives and users. Also, mention the
differences between AlS & accounting courses, , relationship with MIS with the related flow
chart.

Question 2: ( 5 marks)

“pditing computer-based informattion systems is a systimatic process of obtaining and
evaluating eveidence”, provide a relevant explaination of the scope, objectives of audit
work, and identify the major steps in the audit process. Referring to; types of internal audit
and its risk-based approach, and nature of auditing. Also, indicate the the major objectives
of of ionformation system audit.

Question3: ( 5 marks)
(A)Briefly, xplain, with the fraud triangle, the threats faced by modern information systems.

" (B) Briefly,Define the basic-control concepts and why computer control and security are

------------------------------------------------------------------------------------------------- W(M questio

Good Luck.
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